FLPeE R R =l 2

USSR
Z< AR
HhE R R 1 0945 fE o
By iiE%TT
HIEFE EBHER AERE | BEE > L
FEE F #%& A R B THES | THEE :
99,229(52 ntP2i==E§$&E§:+§§ 106,967| 107,488
95,507|1 ANEH 102,631] 103,631
63,763|11 NEHEFHE 67,276] 67,207
62,649[113 ek B 66.510 %M8§E?§ aEtE RS
X
1114|114 TETE 766 LM9%§%W‘A?§%A§%%
X
2,906(12 FEEREBRABFE 4,500 4,500
2,906(124 SER A B < 4,500 4,500 55 P 3k ER s B
1,370]13 RERF T AESER B 1,414 1,496
1.370[131 Ty 13 13| IFFHEDFE (1 ~ A2 EEE
£6,0007C 2 ~ PiANEH(LE
HEANBEE7,0007T)
0 1,401 LAR3| MRS « &5tERHAE
Pt
14,927|15 oy 16,006 16,419
6,673[151 EiEE S 7.324 IwOﬁfﬁﬁ aEtE R AE &
[ X
8.247(152 ARG 8,632 8.996 ﬁ_ﬁ#ﬁé D aEtE R AE &
7N15Y HoAth A% 4 50 33[iBR A B IR A R 4
5,940(16 RIR R ME <5 6,202 6,422
5.870[161 Tk 2B R R e < 6,130 6,314 2 2R RS - SEtE A
&R
701162 T ERIK RS 72 108| LB IR EH e - aatEAA
BT
6,602|18 TEFE 7,233 7,587
6,000181 SEE T REE 450 450| —AR AR
0 6,143 6,497\ B T - astE A
&R
602[18Y Hitg+ & 640 640 gglﬁéﬁ%% ERTEAAER
2,74712 &R 3,073 2,860
1,079[21 IKEE 1,139 1,070
920[212 TAEEEE 100 100| = R B2
0 100 30|@EEE (WL E51)
0 790 70| AEE B
159214 TAEBATKE 149 150| =K E
9122 HEE 116 136
15]221 = 36 S6|FE A HEE
76|222 BEEhE 30 Q0| NE (2 ERE KA}
5123 MREE 10 10
5|231 B A i 10 10| A ke
9|24 HIplsss T EEE 17 17




FLPeE R R =l 2

USSR
Z< AR
HhE R R 1 0945 fE L
By iiE%TT
HIEFE EBHER AERE | BEE > L A 2R
FEE F #%& A R B THES | THEE nE
91241 Ell f 55T E 10 10| EHEE SETE( &8 ~ #
g ~ ERYE ~ ) B EENR]
0 7 MNEeTEEER
633[25 EHREREE 771 658
141252 —REEEEE 40 14| eeE
0 95 25| @IEEN I e 4 (U
#7194 ,6007T ) Bl & T T 224w +4
007
231/254 HpthR2R e EE 231 1 |keds R =B i B R TR
152|255 TR S st (S 122 122(#E2 s E - e E s
0 30 0|1 EEMHIREEEEEH
(2,500 * 12H*1&)
236|257 MER M EEE 60 6022 ~ HITER M S AT
0 64 AT KE Rl S B 4 i 4t
0 129 120 S a2 R B ek g ~ it
K-~ e ERHEEE
67927 — IR 750 690
679279 M B 750 6904 MaLEE T A IR RIS E2 A
179[28 BEREE 198 207
49[285 ity s b it~ g a RS 35 35| i E B R A R s
R F
0 0 14
40(287 Zathehn (8 ) s Bslas & 20 ]8;#%%&%%@§$%2£
0 32 22| & B MR
0289 SR 12 19| @ SR B8 ~ & AR K
hg S B E SR (W
#1751))
0 9 O| @y HEmiog 158 - ELAEEEAS T
TEENRRIZEAEREE: FH (WS E51)
90[28Y H A B AR 90 00| [l 8 TR 22
72{29 INFEERRE 72 7
72|291 NI RE 72 T2|RAFT R Z e E FH 6,000
JE*12H=72,0007C
4323 Rk A e 431 445
43|32 FSoE#E 43] 445
343(321 s (%) B 300 300|—f LT ey
0 43 A3 =R EE STETE(E8T ~ #
B B S AP AR
30(322 WEEEEE 30 0|EHHETREHRMEE LT
23[323 B S R SR 10 10|E s B B AL
(EE FoEEHESER




FLPeE R R =l 2

USSR
< HRIHdR
HhE R R 1 0945 fE L
By iiE%TT
HIEFE EBETE R REE | LEE > L g 2SR
FEE F #%& A R B THES | THEE :
0[323 S B[ A L R IR R 26 06| @ERE EGH Y B (%
(L2 §U25 9007T) Bt & T 4m+100
101328 Bt i (FEEE e sl 10 10 E"“ﬁﬁyé&zg(ﬁ?ﬁ%ﬁéﬁ e
) R - B EE - IS
REE)
26(32Y HA A SLOERE 5 5 %g%&ﬁ%&%&ﬁﬁ%ﬁﬁ&
L
0 7 7|k S DEEO AREE R (131460
07t*12H) » Fc&aTIro4m-20
07T
0 0 14
1527 e - 188~ ¥Bh - & 319 154
# - I8 - ROBEREE)
&
6|74 FHRS - A28 - RIRY - i 18 6
BB
6744 RIRS - BEE RN 18 6B A B =R 4 (3 A 36+
2,0007T)
146|75 R AT BN 301 148
146|751 R RE 100 10| EISEET R RSB
0 48 AR|BE B Fm &
0752 s EE 153 O*E B2 N A e A i AR A
SEE) R AR A B
390[9 HAth 513 398
39091 Htr =7 H 513 398
390191 FHAr 56 A7\ ¥ S B &8 E 56,0007 (
W& EHEZHFKE20,0007T)
0 280 206|BIEZER FOEB AT
0 75 TS|lEHHESEGE (&5 T A
VB
0 66 14| RSB E
0 36 36| & o S A R
59,945|5M R kTS 500 0
59,945|5 EREEEE - BPEER 500 0
JEE B REIEE
59,945|51 EREEEEE 500 0
59,050513 RN R R R 500 (7%%@%%%%&5?%%%
Z 12
895|515 F BB K R i 1 0 0
159,174 44 &t 107,467| 107,488




